TSNS FE IKRRTFHETFE

FEABRMEERE
2 N N w - e | REEE | EE ME (m)

= ANFER | HE |[EHX | M oNE 2 | REAE (%) (ha) = 5599 | 20N - En
1 68 | EWNET| PE 334 54 | DPUER| B 100 10.73 5,199 40 19 266 5,524
2 | 6B |BEW| PR 35 (% 54 | UNEM| B 100 5.46 627 22 29 410 1,088
3 68 |&BEM| PR 35 (F2 54 | DPUEMR|  BEX 100 5.83 1,582 1 16 320 1,919
4 | 68 |EANE| PR 35Mm1 55 | uEMR| B 100 5.36 2,770 8 61 2,839
5 68 |FERET| PE 35 P 56 |PUEMR|  BEX 100 5.89 2,094 11 12 94 2,211
6 | 68 |ERHE| T2 35 (4 54 | UUEM| B 100 6.66 2,983 1 36 157 3,177
7 6 |#BET| PE 37 Y 59 | IGEM| ik 100 7.12 4,046 5 5 92 4,148
8 68 | ERNHET| PIE 38 [C 56 | UEM| Bk 100 4.95 2,723 11 7 2,741
9 6R |#BET| PR 38 & 59 | UGEM| Bk 100 1.76 1,311 6 1 1 1,319
10 | 6A |®BEM| PR 38%1 62 |IGEM| EHix 100 1.53 1,011 1 5 1,017
11 | 6A |#&ES|BEERR| 71< 82 |ANUEM| EHiX 100 2.73 281 278 1 245 805
12 | 6A |#HBESH|BHER| 101X 66 |PUEMR| BEX 100 6.60 3,224 1 319 3,544
13| 6A |#HEMm| K& | 103% 69 | DUGEM| Bk 100 1.96 1,500 17 1,517
14 | 6A |#HBET| K& | 1185 56 | PGEM| Bk 100 6.54 3,243 1 7 218 3,469
15| 6 |#&ET| K& | 1183 58 |UEMR| B 100 2.58 2,132 9 1 4 2,146
16 | 6A |#ET| K& | 118D 69 |AUGEM| EHix 100 2.22 2,521 1 1 27 2,550
17 | 6B |#&ET| K5 | 11821 56 | IGEM| ik 100 4.80 2,740 4 4 197 2,945
18 | 6B |[#EW| K& | 143 & 62 |IGEM| EHix 100 1.07 987 35 1,022
19 | 6A |[#HBEM| K& | 1441\ 69 |AIGEM| EHik 100 0.71 1 154 14 169
20 | 6B |BHEM| KB | 144 5 72 | DUGEM| B 100 2.77 1,562 1 63 1,626
21 | 68 |#EBHEM| K& | 144 (C 69 | PUGEM| Bk 100 1.48 1,212 4 4 1,220
22 | 6A |BHM| FHE |[1087 (3 62 | DIREBEM| Bk 100 3.49 2,626 1 1 2,628

H 92.24 | 46,375 533 159 | 2,557 | 49,624




2R\ JBUR | A s | PORE | ER MR m)
= (%) (ha) AT HINY | ZDMBN L

23 | 7R 2 41 B B 47 1.54 523 9 19
24 | 7R 2 41 & BREX 48 12.91 4,396 75 166
25 | 7R DRSS 41 =1 BREX 31 1.12 251 4 10
26 | 78 BRE:] 41 % BEREX 47 0.40 139 2 3
27 | 7R DRE:] 41 2 BEREX 50 1.44 535 9 10
28 | 7H BRE:] 41 78 BREX 31 0.48 110 2 2
29 | 7R TR 415 BEX 47 1.19 402 7 15
30 | 7R DR 4101 BREX 39 0.31 85 2 3
31 | 7R 2 41<1 Bk 100 2.62 1,980 1 39
32 | 7R BRE:] 41<2 Bk 100 434 2,471 2 57 137
33 | 7R FH | 1103 & Bk 100 1.56 802 1 20
34 | 7R FH | 1103 $h2 Bk 100 0.45 249 10
35 | 7R FH [ 1103 %2 B 100 3.85 1,068 3 202
36 | 78 FH 1103 %21 Bk 100 2.73 924 6 80
37 | 78 FHE | 1103 22 B 100 6.02 1,726 45 240
38 | 7H FHE | 1103 23 B 100 10.02 5,544 1 17 200
39 | 78 FH | 1104 4 B 100 0.74 162 2 68
40 | 78 FH | 1104 &1 Bk 100 1.33 865 1 45
41 | 78 FH | 1104 %2 Bk 100 0.42 157 1 23
4 | 7H FH 1104 73 Bk 100 2.19 1,236 1 48
43 | 7H FH | 1104 K4 B 100 0.40 209 1 11
44 | 7R FHE | 1104 &5 Bk 100 2.22 1,274 2 56
45 | 78 FHE | 1104 126 X 100 6.07 2,576 4 151
46 | 7H FH | 1104 ¥ Bk 100 3.93 1,165 10 263
47 | 78 FH | 1104 1 Bk 100 5.30 1,578 6 416
48 | 7R FH | 1104 T B 100 2.01 1,315 1 122
H 75.59 | 31,742 4 268 | 2,359




=E | N w n o | RERE | @R ME (m)
= AFA | HE |[BHX | M N 2 | AE (%) (ha) == 5597 | 20N - :

49 | 88 | MEEHET| sk | 1001 &1 62 | DUGEM| Bk 100 2.97 2,013 6 26 2,045
50 | 88 |M#HEET| WL | 1001 1 61 |[HIUEMR| &k 100 2.17 1,170 9 18 1,197
51 | 8A |#fkHT| #EE | 1002 T 61 | DUGEM| BX 100 2.41 1,011 9 1,020
52 | 8R |dEHEHET| #EE | 1009 & 65 | DUGEM| BEX 100 1.38 825 1 35 36 897
53 | 8F |aEfAHT| WL | 1009 1t 65 |AIGEM| EHik 100 11.22 6,102 9 1,418 46 7,575
54 | 88 |MEET| M#EE | 1010 D 65 |APUEMR| BEX 100 6.97 3,759 140 223 4,122
55 | 88 |#EfAHT| #EE | 1010 & 62 | AIGEM| Eik 100 17.32 8,124 1 1,051 473 9,649
56 | 88 |#EfkET| WEfE | 1012 (23 53 | UNEM| Bk 100 3.47 1,658 76 139 1,873
57 | 88 |MefkET| ik | 1012 (C4 52 | ouEMR| B 100 1.81 1,191 5 7 1,203
58 | 8A |[BHEM| /\#& | 1047 5 68 |AIGEM| EHix 100 2.85 1,746 1 14 1,761
59 | 88 |BHM| J/\E | 1047 51 68 |AUUEMR| X 100 4.46 3,648 26 3,674
60 | 88 |[EHM| /\I&E [ 10595 54 | DPUEMR|  BEX 100 2.64 1,647 6 36 1,689
61 | 88 [EHM| /\IE [ 1063 A 68 |AUUEMK| BEX 100 2.40 1,559 1 17 1,577
62 | 88 |[EHM| /\IE [ 10635 68 | DUGEM| Bk 100 0.49 481 1 482
63 | 88 [EHM| /\IE | 1071 (F 56 | UUEM| B 100 6.36 4,100 1 22 145 4,268
64 | 8F |EHM| /\& | 10711 56 | IGEM| ik 100 3.84 2,444 1 10 79 2,534
65 | 88 [EHM| /\IE [ 1071 1 56 |PUER| B 100 3.31 2,541 1 3 35 2,580

H 76.07 | 44,019 14| 2,783 1,330 | 48,146




BRI | N w n o | RERE | @R ME (m)
= NFE mET | HEEX | M N 2 | AE (%) (ha) == 5597 | 20N - :

66 | 9A |EHEM| /\#&E 1071 51 55 | UNEM| Bk 100 1.22 458 146 604
67 | 98 [EHM| /\IE [ 1071 52 55 | UUEMR| B 100 0.06 23 8 31
68 | 98 |[EHM| /\IE [1071 56 | UUEM| B 100 9.21 2,610 2,610
69 | 98 |[EHM| A#E [1071 11 56 |PUER| B 100 1.59 980 5 9 24 1,018
70 | 9R |EHEWM| FH | 1074 £ 70 [ UGEM|  EiX 100 0.31 122 122
71 | 98 |[EHW| ¥H [1074 % 70 | AUGEM| B 100 0.08 39 39
72 | 98 |EHW| ¥H [10755 70 | DUGEM| Eik 100 1.88 1,426 16 10 11 1,463
73 | 9B |EHM| FH [1075 0 67 | DUGEM| Bk 100 3.33 2,820 21 2,841
74 | 9R |BEHEW| FH | 1075 X 67 |AUPGEMN| Hix 100 1.59 1,114 1 10 1,125
75 | 98 |EHM™| ¥H | 10753 63 | DUGEM| BEX 100 10.18 5,718 381 89 6,188
76 | 9R |EHEW| FH | 1079 D 61 |2IGEM| Hix 100 3.69 2,188 1 45 2,234
77 | 98 |[EHW| ¥H | 1079 H 85 | AULEM| X 100 0.94 878 20 898
78 | 98 |EHT™| FH [1081< 69 |APUEMK| X 100 4.24 2,310 3 1 174 2,488
79 | 9R |EHEWM| FH | 1082 5 54 | DUEM| Bk 100 3.27 1,759 1 26 1,786
80 | 98 |EHM™| ¥H [108251 55 | UUEM| B 100 3.40 1,906 1 26 1,933
81 | 9A |EHEW| FH |108253 54 | 9IGEM| X 100 3.59 1,474 1 229 1,704
82 | 98 |[EHM| FH [1082 54 55 |uEMR| B 100 5.63 2,812 2 84 2,898
83 | 98 |EHM| FH |1087 3 82 | AULEM| X 100 2.54 2,037 2 3 3 2,045
84 | 9A |/EHEM| FHE | 1087 & 83 |[NUEM| EHix 100 2.24 1,740 4 1 6 1,751
85 | 98 |/EHM| FH | 10872 64 EEM | &k 100 1.74 625 625
5 60.73 | 33,039 30 412 922 | 34,403




=E | N w n o | RERE | @R ME (m)
= ANFER | WHE | EHX | MR N 2 | KEAE (%) (ha) T 5599 | 20N - -

86 | 108 |#&ME™M| &% | 1525 59 | UUEN| B 100 1.23 942 2 17 961
87 | 108 |#&f™ | &E | 162 % 82 | AUEM| X 100 2.26 550 1 270 821
88 | 108 |#&MET| &&F | 178 ¥ 69 | DUGEM| BEX 100 0.98 266 14 1 97 378
89 | 108 |#Mm | ‘=& | 182 Y 59 | 2UEM| Bk 100 3.79 2,378 5 59 2,442
9 | 10A %™ | =B | 184 T 64 |UPGEM| EHik 100 1.67 910 1 43 90 1,044
91 | 108 |#&HE™| &E | 184 & 65 |APUEMR| BEX 100 1.58 1,321 24 12 1,357
92 | 108 |#&M™| &E | 184 & 64 | DUGEM| Bk 100 1.72 1,070 10 9 36 1,125
93 | 108 |#&M™ | && | 185 L) 70 | DUGEM| B 100 0.89 657 16 1 2 676
9 | 108 |#&ME™| &&F | 185 1H 63 |UUENR| BEX 100 0.71 467 9 14 490
95 | 108 |#&f™ | &&E | 186D 67 EEM | & 100 1.53 603 80 4 687
9% | 108 |#M™ | &8 | 186 D1 63 BB | X 100 5.60 3,103 195 113 3,411
97 | 108 |#&ME™ | &E | 186 & 72 EEM | & 100 1.76 701 41 63 805
98 | 108 |#&ME™ | &&E | 186 & 73 | AUGEM| B 100 0.78 910 1 9 920
99 | 108 |#BHEM| PE [ 191 A 72 | UGEM| B 100 1.69 1,471 1,471
100 | 108 |##kET| ##% | 1015 % 66 | DUGEM| Bk 100 4.95 2,378 1 132 2,511
101 | 108 |##tkET| #&fE | 1015 < 65 |[IUEMR| EX 100 0.79 219 2 38 259
102 | 108 | dfLHT| Hefr | 1015 X 65 | PLENR| Bk 100 1.52 A77 1 1 71 550
103 | 108 |##kET| #EE | 1016 5 66 | DUGEM| BEX 100 1.14 1,063 1,063
104 | 108 |/BHM| /\#&E | 1038 5 70 [ PGEM| EiX 100 0.51 369 1 12 382
105 | 10AR |/BH™| /\& | 1038 (& 74 | PUGEM| B 100 0.81 774 1 42 817
106 | 108 |BH™ | /\#E [1038 & 70 | DUGEM| EiK 100 0.73 598 1 11 610
&t 36.64 | 21,227 44 417 | 1,092 | 22,780
RSEE-&F 341.27 | 176,402 625| 4,039 | 8,260 | 189,326
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